14. B: Since the opposite side and the
adjacent side are congruent:
opp _ adj o ging - coso
hyp hyp

15. A: 36thlgal

1 4 qt
Test S
1. C: cos38°~.7880
2. B: tan79°=5.1446
3. B cos6 =.9659
0 = arccos(.9659)
0=~15°
4, A: arctan .8391= 40°
n .l' 1
5 D: 14 ~.23
60"
29'+.23'=29.23"
1 ]o
29.23"' x— =~ .49°
60"
30°+.49°=30.49°

6. C: .36°x60=21.6'
.6'x60=36"
28°21'36"

7. D: tanG:E

14
tan® =~ .9286
0 ~ arctan .9286
0~42.9°

8. A: 90°-42.9°=47.1°

9. 132 4+14% = H?
169+196 = H

365 =H?
H=+365
H=19.1

10. A: 42.9°=42°+ .9°
.9°x 60 = 54"
42°54'

11. D: cosf=—"—

seco

12. C: 7c950°:cotoc
sina

13. B: sin30°= cos(90°-30°) = cos60°

PRECALCULUS

TEST 4 - TEST 6

14. B: tan45°=1
15. D: %zsﬁ
Test 6
X
1. D: tan42°= 2
an 926
2 A: tan42°=i
926
(926)(tan42°) = X
X ~ 926(.9004)
X ~ 833.8 m
3 B tang< 833.8+50
926
883.8
tang = 892:©
an®="926
tand ~ .9544
0 = arctan .9544
0~ 43.7°
43.79= 4304 .70
.7°% 60 = 42"
43042"
4, B: H?=926%2+833.82
HZ = 857,476 +695,222.44
H2 =1,552,698.44
H=11,552,698.44
H~1,246.1 m
Y
5 C: tan54°= —
80
80tan54°=Y
Y = 80tan54°
B
6. A: tan51°= ==
an>1"= 30

(80)(tan51°) = B
B ~ (80)(1.2349)
B~98.8m
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TEST 6 - TEST 7

7. D: tan540=
80
(80)(tan54°) = Y
Y ~(80)(1.3764)
Y~110.1 m
110.1-98.8=11.3m
8. B: H?=80%+98.82
HZ = 6,400 +9,761.44
H2 =16,161.44
H=.16,161.44
H~127.1 m
9. A: sin10°= —Y_
100
(100)(sin10°) = Y
Y ~(100)(.1736)
Y ~17.4 ft
. X
10. B 80°= 2
>N 100
(100)(sin80°) = X
X ~(100)(.9848)
X ~ 98.5 ft
11. D: tan30°= = 143) 3
3 3(\3) 3
12. C: arcsin .8192 ~ 55°
W T
13. 2 ~.03
“ 60"
21.03'x 12~ 350
' 60"
46°+ .35°= 46.35°
14. A: SIN® _iang
Ccoso
15. B 1 =secqo
Ccoso
Test 7
1. D: 4th
I I
-30°
111 v

454 SOLUTIONS

A: st

11 I

85°

111 I\Y%
A: 30°

1I I

30°N] \

111 v
D: 77°

II I

E \77°
111 v

D: Sine is positive when Y is positive.
Cosine is positive when X is positive.
Tangent is positive when X and Y have
the same sign, and negative when X
and Y have different signs.

C
S sinp=—2__4
C: sing= 3 3
3
5 4
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